REPUBLIC OF THE PHILIPPINES BATANGAS CITY

OFFICE OF THE SANGGUNIANG PANLUNGSOD

EXCERPT FROM THE MINUTES OF THE REGULAR SESSION HELD BY THE MEMBERS OF THE SANGGUNIANG PANLUNGSOD OF BATANGAS CITY ON AUGUST 16, 2022 AT THE SANGGUNIAN SESSION HALL

PRESENT:

Hon. Alyssa Renee A. Cruz,	Presiding Officer
Hon. Hamilton G. Blanco,	Councilor
Hon. Karlos Emmanjuel A. Buted,	***
Hon. Andrea Loise F. Macaraig,	66
Hon. Nestor E. Dimacuha,	46
Hon. Oliver Z. Macatangay,	54
Hon. Armando C. Lazarte,	**
Hon. Nelson J. Chavez,	***
Hon. Jose Jonash Luis F. Tolentino,	44
Hon. Zester Carlo M. Hernandez,	cc
Hon. Isidra "Ched" M. Atienza,	44
Hon. Lorenzo A. Gamboa, Jr.,	44
Hon. Michael C. Villena,	44
Hon. Angelito "Dondon" A. Dimacuha,	(ABC-Rep.)
Hon. Marjorie A. Manalo,	(SK-Rep.)

"On motion of Councilor Buted seconded by Councilor Lazarte, the following Resolution was Adopted:

RESOLUTION NO. 22-219 S. 2022

A RESOLUTION APPROVING THE PURCHASE OF VARIOUS VEHICLES FOR THE USE OF DIFFERENT OFFICES OF BATANGAS CITY GOVERNMENT AND THE CITY DISASTER RISK REDUCTION AND MANAGEMENT OFFICE

WHEREAS, in a letter dated August 8 and 9, 2022, the Honorable City Mayor forwarded to the Sangguniang Panlungsod the request for a passage of a resolution approving the purchase of following vehicles:

Five (5) units Sports Utility Vehicle

for use of different offices of Batangas City Government 2,442 cc
Diesel Fed
4 cylinders
1,900,000 x 5 = 9,500,000.00

Nine (9) units Passenger Van

for use of different offices of Batangas City Government 2,499 cc
Diesel Fed
4 cylinders
1,321,000 x 9 = 11,889,000.00

Continuation of Resolution No. 22-219 S. 2022

A RESOLUTION APPROVING THE PURCHASE OF VARIOUS VEHICLES FOR THE USE OF DIFFERENT OFFICES OF BATANGAS CITY GOVERNMENT AND THE CITY DISASTER RISK REDUCTION AND MANAGEMENT OFFICE

Three (3) units Passenger Van

for use of the City Disaster Risk Reduction & Management Office, Batangas City

2,198 cc

Diesel Fed

4 cylinders

 $1,766,000 \times 3 = 5,298,000.00$

WHEREAS, it is informed that funds for this purpose have been provided for in the city's budget as shown and certified by City Accountant Ms. Sherryl Bool amounting to Php 26,687,000.00.

NOW THEREFORE, BE IT RESOLVED AS IT IS HEREBY RESOLVED BY THE SANGGUNIANG PANLUNGSOD IN SESSION ASSEMBLED to approve the purchase of various vehicles for the use of Batangas City government and the City Disaster Risk Reduction & Management Office.

UNANIMOUSLY APPROVED."

I hereby certify that the foregoing Resolution No. 22-219 S. 2022 was approved by the Sangguniang Panlungsod of Batangas City during its Regular Session held on August 16, 2022.

ATTY. OLIVA D. TELEGATOS

Secretary

ATTESTED:

ATTY. ALYSSA RENEE A. CRUZ Presiding Officer

ODT/ystingchuy...



Republic of the Philippines Province of Batangas BATANGAS CITY SANGGUNIANG PANLUNGSOD



THE COMMITTEE ON APPROPRIATIONS

COMMITTEE REPORT

Requesting the Passage of a Resolution Approving the Purchase of Different Vehicles

BACKGROUND:

The subject is a Letter from the City Mayor Beverley Rose A. Dimacuha Requesting the Passage of a Resolution Approving the Purchase of Different Vehicles. This was referred to the Committee on Appropriations for its consideration during the Regular Session last August 9, 2022. The Committee held a hearing on August 15, 2022 and in attendance were the following:

Vice Mayor Atty. Alyssa Renee A. Cruz; Members of the committee, chaired by Vice Chariman Hon. Nestor E. Dimacuha, and its members: Hon. Isidra M. Atienza, Hon. Lorenzo A. Gamboa, Jr., and Hon. Nelson J. Chavez. Also present were Sangguniang Panlungsod Members: Hon. Andrea F. Macaraig, Hon. Armando Lazarte, Hon. Dr. Jonash Tolentino, Hon. Zester Hernandez, Hon. Michael Villena, and SK Federation President Hon. Marjorie A. Manalo. City Treasurer Ms. Arminda Madayag, City Budget OIC Mr. Manolo Perlada, and Ms. Sherryl Bool from the City Accounting Office, and General Services Officer Ms. Joyce Cantre were also present.

FINDINGS:

The Chairman of the Committee on Appropriations, the members of the Committee, and Members of the Sangguniang Panlungsod briefly made an overview of the subject and suggested necessary matters:

- Ms. Joyce Cantre from the General Services Department mentioned that the purchase of the vehicles is valid and is part of the Annual Investment Plan;
- 2. City Treasurer Ms. Arminda Madayag stated that there is available fund; and
- 3. Below is the itemized list and specifications of the various vehicles to be purchased:
 - a. Five (5) units Sports Utility Vehicle
 For use of different offices of Batangas City government
 2,442 cc
 Diesel Fed
 4 cylinders
 1,900,000 x 5 = 9,500,000.00



Republic of the Philippines Province of Batangas BATANGAS CITY SANGGUNIANG PANLUNGSOD



b. Nine (9) units Passenger Van

For use of different offices of Batangas City government

2,449 cc

Diesel Fed

4 cylinders

 $1,321,000 \times 9 = 11,889,000.00$

c. Three (3) units Passenger Van

For use of the City Disaster Risk Reduction & Management Office, Batangas

City

2,198 cc

Diesel Fed

4 cylinders

 $1,766,000 \times 3 = 5,298,000.00$

RECOMMENDATIONS:

- 1. Adoption of this committee report; and
- 2. Approval of the resolution hereto attached.

Respectfully submitted, August 15, 2022.

THE COMMITTEE ON APPROPRIATIONS

COUNCILOR KARLOS A, BUTED

Chairperson

COUN. NESTOR E. DIMACUHA

Member

COUN. LORENZO A/GAMBOA, JR.

Member

COUN. NELSON J. CHAVEZ

Member

COUN. ISIDRAM. ATIENZA

Member

- · · · · · · · · · · · · · · · · · · ·	·		
			•
	•		